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end induction...
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suppose 7 1s a natural number with binary representation:
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figure out by based on whether n 1s odd or even... suggesting
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def natural_to_binary(n: int) -> str:

# convert n to equivalent binary string _£
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assumptions, assumptions... i
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» i1gnore constant factors .
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» ignore “noise” for smallinpm/

We care about growth rate of time consumption
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» f absolutely dominates g
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» f dominates g up to a constant factor {:
e eIRJ; \7/Vté N) j(ﬂ\ £ ¢ 1l

» f eventually dominates g up to a constant factor
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What should domain and range of f, g be?
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big-Oh, big-Omega, big-Theta
and you're started on the Greek alphabet...
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